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Question 1             

a.  Domain  6,3− ; range  27,9  
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Question 2  
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Question 3   
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Question 4   
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b.  Point of inflection ( ) 0= xf  .: 0=x  and 1=y . Line cmxy +=  passes through ( )1,0  and ( )2,1−  .: 1+−= xy . 
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Question 5   

a.   
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Question 6   

a.  216666 =     b.  ( )
9

2

3

2

3

1
Pr

12

2
3 =
















= CA     c.  ( ) ( ) ( )

27

20

3

2

3

1

3

2

3

1
1Pr0Pr1Pr

21

1
3

30

0
3 =
















+
















==+== CCXXX  

 

d.  ( )
( )
( ) 13

6

13Pr1

1Pr
2|1Pr

27
1

9
4

=
−

=
=−

=
==

X

X
XX       e.  ( ) ( ) ( ) ( ) 13Pr32Pr21Pr10Pr0 ==+=+=+== XXXXX  

 

 

Question 7  

a.  Smaller sample: 
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b.  The larger sample will provide a better estimate.  
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c.  Sample proportion has a normal distribution for large sample size ( 300=n ):  ( )
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